Skanninge BK

Bl& grupp 2019-08-06

Partavling, 8 bord, 16 par. Antal brickor: 26. Medel: 182.0.

Plac Par Poang % Namn MID Klubb
1 14 220 60.44  Ulla Brodd - Rune Lavén 50330 31858 Ské&nninge BK
2 1 219 60.16  Viveca Kaver - Arne Kaver 63791 63792 BK S:t Erik
3 15 210 57.69 Inger Friborg - Lars Friborg 92899 92900 Skanninge BK
4 3 209 57.42  Orjan Varverud - Bo Hydén 11834 53008 Skanninge BK
5 10 204 56.04  Birgitta Nilsson - Osten Lindqvist 92908 29936 Skanninge BK
5 11 204 56.04 Ros-Marie Gustafsson - Conny Johansson 51356 21875 Vadstena Bridgeklubb
7 6 198 54.40 Britt-Marie Einarsson - Lennart Einarsson 79228 15659  Skéanninge BK
8 2 189 51.92  Jan-Olov Carlsson - Kerstin Carlsson 45732 45733  Skéanninge BK
9 8 173 47.53 Kent André - Eva Ouist 57193 57210 Ské&nninge BK
10 13 170 46.70  Iris Walliin - Roger Wallin 61162 66642 Mjdlby BK - Skénninge BK
11 16 165 45.33  Elsy Blomquist - Rune Hugo 18866 49296 Mjolby BK
12 5 163 44.78 Inga Berglert - Maj-Britt Johansson 31339 61153 Skéanninge BK - Mjolby BK
12 9 163 44.78  Violette Olsson - Mari-Anne Glavenius 45751 41194  Skanninge BK
14 7 162 4451  Eva Ohlsson - Ingrid Sundmar-Joge 66652 66643 Skanninge BK
15 4 159 43.68  Erik Samzelius - Marianne Samzelius 66644 66645 Skanninge BK
16 12 104 28.57  Louise Hedblom - Barbro Emmoth 54425 54424  Mjolby BK
1 & EKKNn63 Bésta kontrakt 2 4 E6 Bésta kontrakt 3 4942 Bésta kontrakt
Nord v Kn654 3NT O =-400 Ost vE62 INT S =2220 Syd v98 5NT V =-660
Ingen 494 NS + EKn53 ov + 1054
*E4 & ¢ v & NT #EKn32 & ¢ v & NT #DKn654 & ¢ v & NT
452 4 D84 N53 46 3 4 Knl104 49872 N 1312111213 4 Kn875 4 ED1063 N45422
vEK v D10982 S 53453 vDKn1094 75 S 1312111213 vK104 vD65 S 45422
¢ KKn732 ¢ E85 O 8 109 7 9 + 106 + D874 001210 ¢Kn83 +EK 09 7 8 1111
#KDKn6 #73 vV 8 109 7 9 #984 #1076 Vo1210 K83 &E92 V978 1111
41097 4 KD53 oK
v73 v K83 v EKn732
+ D106 + K92 + D9762
109852 #KD5 «107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 1 3NV-2 46 100 140 0.0(15 12 6NS+1 v4 1470 140 00| 1 11 44 0-1 v2 100 140 0.0
6 11 3¢ V= s A -110 80 6.0{14 1 3NN+4 ¢4 720 11.0 3.0|10 9 34 0+2 v2 -200 120 2.0
7 3 3¢V= *A -110 80 6.0{16 5 3NS+4 v4 720 11.0 30| 5 3 44 0= vA -620 70 7.0
13 10 3¢ V= oA -110 8.0 6.0/13 10 3NS+3 vQ 690 80 6.0| 7 12 44 O= vA -620 70 7.0
15 12 2¢ V+1  &A -110 80 6.0 9 8 B5NN= v4 660 6.0 80|14 2 44 0= &T -620 70 7.0
16 5 3¢ V= *A -110 80 6.0 4 2 3NS+1 v4 630 40 100|16 6 44 O= vA -620 70 7.0
4 2 3v0O= +Q -140 20 12.0| 6 11 6NS-2 vQ -200 1.0 13.0(15 13 3NO+1 v2 -630 2.0 12.0
9 8 2vyN-4 +5 -200 0.0 140| 7 3 B6NS-2 v9 -200 10 130 8 4 44 O0+1 ©vA -650 0.0 14.0
4 & Kn94 Bésta kontrakt 5 » EK63 Bésta kontrakt 6 a74 Bésta kontrakt
Vast v EKD64 54 N =650 Nord v 92 34 O =-140 Ost v D86 4¢ S D -3-500
Alla ¢ 62 NS 465 ov + EK9642
*E108 & ¢ v & NT #D9853 & ¢ v & NT *76 & ¢ v & NT
#7653 oK N4 4 11117 4 D754 4 Kn1098 N7 49 46 4 EKn108 4 D932 N57 434
vKn1032 v5 S 4 4 11117 v7 vED4 S74946 vE9%4 v KKn105 S57 434
+ D95 ¢EK10874 O 6 9 1 1 1 ¢ E932 ¢+ KD84 06 9496 ¢ 105 ¢+ D73 0869 99
»75 #DKn943 V69111 #Knl1064 #K2 V69495 #D1083 #Kn4 V86999
4 ED1082 a2 & K65
v 987 v KKn108653 v732
¢ Kn3 + Kn107 + Kn8
*K62 *E7 #EK952
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
15 13 44 S+1  ¢Q 650 140 00| 2 12 3v S= ¢ A 140 11.0 3.0|14 3 2vO-3 +J 300 140 0.0
10 9 44 S= +5 620 120 20| 6 4 3vS= *A 140 110 30| 6 4 3aV-2 *A 200 120 2.0
1 11 34 S+2 5 200 90 50| 9 5 3vS= a4 140 11.0 3.0| 8 13 24 V-1 ¢ A 100 10.0 4.0
14 2 34 S+2  +9 200 9.0 50|11 10 3v S= ¢ A 140 11.0 3.0| 2 12 2¢ N= v5 90 8.0 6.0
5 3 34S+1 &7 170 40 10016 7 2NO-2 v3 100 6.0 8.0|16 7 Pass 6.0 8.0
7 12 34 S+1  ¢5 170 40 100|14 3 3vS-1 a4 -100 30 11.0{15 1 2¢ N-2 v] -100 4.0 10.0
8 4 29y N+2 ¢A 170 40 100|15 1 4vS-1 2 -100 30 11.0| 9 5 24 V= *7 -110 2.0 12.0
16 6 INN= + K 90 0.0 140| 8 13 INO+1 3 -120 0.0 14011 10 34 V= *A -140 0.0 14.0
7 a2 Basta kontrakt 8 4 EDKn43 Basta kontrakt 9 4 Kn7 Basta kontrakt
Syd v EKDKn653 5¢v SD-1-200 Vast v K95 4% V =-130 Nord v EKKn74 4v N =420
Alla + D6 Ingen ¢ E75 ov 49843
#1064 & ¢ v & NT »86 & ¢ v & NT #105 & ¢ v & NT
4 D105 4EK9874 N2 8 103 3 4K865 49 N3 4776 4432 4KD10865 N 7 10105 6
v1098 v- S 27 103 3 vE6 vD107 S34776 vD95 ¢82 S 7 10105 6
4732 ¢K85 O 115 1 101 ¢ Kn9 ¢ KD432 09 9567 ¢E76 52 052374
#D852 #EK93 V911101 #D5432 #E1097 V 109 5 6 7 D862 #E43 V52374
4 Kn63 41072 4 E9
v 742 v Kn8432 v 1063
+ EKn1094 + 1086 + KDKn10
#Kn7 #KKn #KKn97
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 4 4vy N+2  aA 680 140 00|16 8 14 N+1 #A 110 140 00|11 7 3vy N+1 #A 170 13.0 1.0
3 13 4¢vyN-1 oA -100 11.0 30| 7 5 4aV-1 oA 50 11.0 3.0(13 12 3v N+1 &K 170 13.0 1.0
10 6 5v N-1 *A 100 11.0 3.0(14 4 24 O-1 a7 50 11.0 3.0(10 2 4¢ S+1 v5 150 10.0 4.0
2 15 44 O+1 92 -650 40 100| 3 13 14 N-1 *7 -50 80 6.0 3 15 3vN= *A 140 8.0 6.0
7 5 44 0+1 v2 -650 40 100|10 6 34 N-2 *A -100 6.0 80|14 5 INS= LY 90 6.0 8.0
9 1 44 0+1 v2 -650 40 100 9 1 2¢ O+1 42 -110 40 100| 8 6 24 0= *T -110 40 10.0
12 11 44 O+1 v2 -650 40 10.0| 2 15 3&V+1l &A -130 10 130 4 1 24 0+1 ¢K -140 1.0 130
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16 8 44 O+1 v2 -650 4.0 10.0|12 11 32 O0+1 &A -130 10 130(16 9 24 O+1 T -140 1.0 13.0
10 # Kn986 Basta kontrakt 11 «E72 Basta kontrakt 12 # 10853 Basta kontrakt
Ost v- 5v O =-650 Syd v E1073 34 V =-140 Vast v Kn8 6NT V =-990
Alla + K874 Ingen 4965 NS + D983
#EKn742 & ¢ v & NT #DKn8 & ¢ v & NT *K107 & ¢ v o NT
4 K3 «E1074 N57 265 48643 «D1095 N57 747 sE « Kn964 N22151
v98753 ¥vEKKn102 S 57 255 vKn8 vK94 S47 746 vED9765 vK4 S22151
410632 +E O6 6 117 8 ¢ K102 +E8 0866 96 ¢ K5 ¢ EKn102 O 1110128 12
«D9 #K63 V66 117 8 #9764 #EK102 V85596 #D962 #E54 VvV 1110128 12
« D52 « KKn «KD72
v D64 v D652 v 1032
¢ DKn95 ¢ DKn743 ¢ 764
#1085 #53 #Kn83
Par  Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
16 9 1vO+4 5 -200 140 00| 1 13 24 0-1 v2 50 120 20| 5 2 4vV+1l ¢8 -450 120 20
3 15 4v 0= +5 -620 11.0 3.0|11 3 INO-1 +Q 50 120 20| 9 7 4y V+1l &7 -450 12.0 2.0
11 7 49 0= *8 -620 11.0 3.0|14 6 INO-1 +3 50 120 2.0(11 3 4vyV+l +8 -450 120 2.0
4 1 4vO0+1 «Q -650 4.0 100| 5 2 INO= +3 -90 70 7.0| 1 13 3NO+2 3 -460 8.0 6.0
8 6 4v O+1 a2 -650 4.0 100| 9 7 INO= +3 -90 70 7.0| 4 15 4y V+2  &T -480 50 9.0
10 2 5v 0= *2 -650 4.0 10.0| 4 15 2¢v N-2 *A -100 3.0 11.0(14 6 4v V+2 &7 -480 50 9.0
13 12 4v O+1  &T -650 4.0 100|12 8 3v N-2 *A -100 30 11.0(16 10 4v V+3 +Q -510 20 12.0
14 5 4v O+1 9 -650 4.0 10016 10 2#O0+2 3 -130 0.0 14012 8 3NO+4 a2 -520 0.0 14.0
13 ~KD74 Bésta kontrakt 14 s EK Bésta kontrakt 15 48 Bésta kontrakt
Nord v Kn532 4v O =-620 Ost vD73 6NT S =990 Syd v 65432 6NT V =-990
Alla + K9 Ingen ¢ EKn1053 NS ¢ K9532
£982 & ¢ v & NT #K92 & ¢ v & NT #109 & ¢ v & NT
2108653 #4E N26 365 & Kn6 498752 N 11128 1011 4 EK76  #Kn932 N12511
vK v ED9876 S$26365 vKKn10985 v62 S 12128 1012 v DKn vEK S12511
¢ 872 +54 O 115 106 7 +98 ¢ D42 011531 ¢ E87 ¢ DKn106 O 12117 1212
#E1054 #KDKn3 VvV 115 106 7 »864 #E53 V11531 #KDKn7 #EB86 V 12117 1212
« Kn92 «D1043 «D1054
v 104 vE4 v 10987
¢ EDKn1063 + K76 *4
*76 #DKn107 #5432
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
6 3 3#0= *T -110 140 0.0|13 9 3NN+3 a5 490 140 00|11 9 6NV-3 2 150 140 0.0
2 1 3v0O+1 A -170 100 40| 6 3 5NS= v8 460 11.0 3.0|13 5 6NV-2 +9 100 110 3.0
14 7 2v0+2 ¢A -170 100 4.0|10 8 3NS+2 v5 460 11.0 3.0|14 8 6NV-2 +5 100 11.0 3.0
16 11 2v O+2 +A -170 100 40| 2 1 3NN+1 a2 430 6.0 80| 1 10 6NV-1 2 50 70 7.0
5 15 3v O+2 +A -200 50 9.0| 5 15 3NN+1 &5 430 6.0 80| 6 15 6NV-1 2 50 70 7.0
12 4 2v0+3 +¢A -200 50 9.0{16 11 3NN+1 a2 430 6.0 80| 3 2 4NV+L ¢2 -460 2.0 120
10 8 4v 0= ¢ A -620 1.0 130(12 4 3NN= +4 400 1.0 130 7 4 3NV+2 2 -460 2.0 120
13 9 4v 0= *7 -620 1.0 13014 7 3NN-= v2 400 1.0 13.0(16 12 3NV+2 5 -460 20 120
16 & E932 Basta kontrakt 17 4107532 Basta kontrakt 18 4 Kn8 Basta kontrakt
Vast v D843 44V =-130 Nord v542 6y O =-980 Ost v 9832 3v S =140
ov ¢ EKD4 Ingen ¢+ KD NS + E106
3 & ¢ v & NT #KKn10 & ¢ v & NT #Kn1094 & ¢ v & NT
» 104 » K8765 N3 8865 4 EDKn86 #4K9 N7 1123 4D754 462 N6 59 88
v EK2 v 105 S$38865 vKD103 vE86 S71123 vD754 vKn S659 838
¢ Kn5 +1093 O 105 4 7 8 ¢ EKn63 10852 O 5 11121010 ¢ Kn532 # K987 078455
#KKn10986 #E72 V 105 4 7 8 »- #D542 vV 5 11121010 *6 #EKD873 V78455
& DKn a4 4 EK1093
v Kn976 v Kn97 v EK106
+ 8762 ¢+ 974 + D4
»D54 #E98763 #52
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 2 4eV-2 ¢ A 200 130 10| 8 5 3NO-2 3 100 140 00| 4 3 340-3 vA 150 14.0 0.0
13 5 4&V-2 ¢ A 200 13.0 10| 2 11 24 V= +K -110 120 20| 2 11 34 S= *6 140 11.0 3.0
7 4 2¢ N= *A 90 100 40|14 9 34V= *J -140 100 40|14 9 3vyS= *6 140 11.0 3.0
110 3vS-1 *6 -50 6.0 80| 7 15 29 V+3 ¢K -200 80 60| 8 5 2vS= *6 110 8.0 6.0
14 8 4vS-1 LY -50 6.0 80|12 10 3NV= v2 -400 60 80| 1 6 3#0-2 & A 100 4.0 10.0
16 12 3¢ N-1 *2 -50 60 80| 1 6 4e4V= ¢+ K -420 30 110 7 15 3#0-2 vA 100 4.0 10.0
6 15 3& V= *A -110 1.0 13.0(13 16 44 V= *J -420 3.0 11.0|13 16 3+ 0O-2 vA 100 4.0 10.0
11 9 24V +1 &3 -110 1.0 130 4 3 3NO+1 &3 -430 0.0 14.0|12 10 3#0-1 s A 50 0.0 14.0
19 4 EKD1032 Basta kontrakt 20 a7 Basta kontrakt 21 4 Kn4 Basta kontrakt
Syd v 1062 54 S =450 Vast v EKn8765 3¢ V =-110 Nord v ED642 3v N =140
oV +84 Alla ¢ Kn5 NS + ED1092
»E7 & ¢ v & NT #KKn105 & ¢ v & NT »5 & ¢ v & NT
2KnB854 &7 N6 8 9 1110 «K9642 4 EKn N53846 «KD10 «E732 N 4 109 6 6
vK975 vKn84 S 68 9 1110 v- v K943 S53856 vKn10 v 8753 S 4 109 6 6
¢ 106 ¢ KKn95 06 4422 ¢ D763  # K982 08 9587 73 + Kn65 083475
#DKn9 #K5432 V64422 #9832 #ED7 V89587 #KKn9872 #E10 V83475
+ 96 « D10853 #9865
vED3 v D102 v K9
¢ ED732 ¢+ E104 + K84
#1086 *64 +D643
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
1 16 44 N+1  vJ 450 140 00| 2 7 1vyDN+1 &A 360 140 00| 1 12 2¢vy N+1  #A 140 130 1.0
2 7 44 N= *2 420 9.0 50| 3 12 34DV-1 ¢J 200 120 20| 3 8 2¢v N+1 #A 140 130 1.0
8 15 44 N= a7 420 90 50| 5 4 29y N+1 A 140 9.0 50| 2 16 3¢ N= *A 110 9.0 5.0
9 6 44 N= *4 420 90 50| 8 15 3v N= & A 140 90 50| 4 13 3¢ N= *A 110 9.0 5.0
14 10 44 N= a7 420 90 50| 116 2NO-1 v2 100 50 9.0|14 11 44V-2 Ly 100 6.0 8.0
3 12 24 N+2 &5 170 4.0 10014 10 34 0O-1 v2 100 50 9.0| 9 15 3aV-1 +] 50 4.0 10.0
13 11 24 N+1 5 140 20 12.0|13 11 24 O= *A -110 20 120| 6 5 3NS-1 *7 -100 1.0 130
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5 4 44 N-1 +J -50 0.0 140| 9 6 3NO= v2 -600 00 140|10 7 3¢ N-1 A -100 1.0 13.0
22 K93 Basta kontrakt 23 432 Basta kontrakt 24 a2 Basta kontrakt
Ost v 98 2# 0 =-90 Syd vE98 2NTV =-120 Vast vE9 44 V =-420
oV + E107532 Alla + EKn1094 Ingen + D8762

*72 & ¢ v & NT *752 & ¢ v & NT #KKn872 & ¢ v & NT
21065 &E87 N57 6 6 6 # 854 « EKD7 N3 76565 « KDKn753 #4964 N8 45 22
vK103 vE642 S57 666 v10632 vD5 S376565 v K107 v D86 S845 22
+KD8 +64 086767 + KD 4632 0967 838 + K10 ¢ E9543 04 9 7 109
#K843 #EKn96 V86767 #ED84 #KKnl109 V967 88 #103 &ED V497 109

# DKn42 + Kn1096 «E108

v DKn75 v KKn74 v Kn5432

+ Kn9 + 875 ¢+ Kn

«D105 *63 #9654

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

112 440-2 +J 200 140 00| 3 16 4v V-4 3 400 140 00(14 12 3«4 V-1 vA 50 140 0.0

3 8 3#40-1 +*J 100 11.0 30| 7 6 44 O-2 v4 200 120 20| 3 16 4#N-2 49 -100 120 2.0

4 13 34 0-1 v5 100 11.0 3.0|15 10 3NO-1 s] 100 100 4.0(11 8 24 V+2 vA -170 10.0 4.0

9 15 24 0= +9 -90 60 80|11 8 3#0-= »6 -110 70 7.0| 2 13 4e V= vA -420 8.0 6.0
10 7 240= vQ -90 6.0 80|14 12 24 O= v4 -110 70 7.0| 4 9 4eV+1 vA -450 3.0 11.0
14 11 INV= +5 -90 6.0 80| 4 9 INV+1 +9 -120 40 100| 5 1 4eV+l »8 -450 3.0 11.0

2 16 2+ V+1 ¢ A -110 1.0 130 2 13 3+ V+1 vA -130 20 120| 7 6 44 V+1 vA -450 3.0 11.0

6 5 3&V= *A -110 10 130 5 1 3NO= v4 -600 0.0 14.0(15 10 44 V+1 vA -450 3.0 11.0
25 # 10632 Bésta kontrakt 26 & K94 Bésta kontrakt
Nord v K643 34 ND-1-100 Ost v 875 2v O =-110
ov + Kn9 Alla + D94

#DKn6 & ¢ v & NT #D965 & ¢ v & NT
D7 «Kn9 N4 4486 » 863 D52 N6 5565
vEKn9 vD1085 S44486 vD1092 vE43 S65565
¢ E1032 ¢ KD65 09 9957 ¢ KKn7 ¢ E1062 078877
#E975 #K82 V99957 +«Kn72 #E103 V78877

« EK854 « EKn107

v72 v KKn6

¢ 874 + 853

#1043 *K84

Par  Kontr Ut Res Poéang Par Kontr Ut Res Poang

6 2 3v0-2 LY 200 140 00| 3 1 3¢ 0-3 oT 300 140 0.0

3 1 3NV-1 v3 100 80 6.0 510 3vV-2 a4 200 11.0 3.0

5 10 3NV-1 v4 100 80 6.0|15 11 2¢ O-2 v6 200 11.0 3.0

8 7 3NV-1 a2 100 80 6.0| 4 16 INV= a4 -90 8.0 6.0
14 13 3NV-1 v4 100 80 6.0[14 13 1lv V+1 Ly -110 6.0 8.0
15 11 3NV-1 v3 100 80 6.0 8 7 INO+1 &7 -120 4.0 10.0

4 16 INV= LY -90 20 120| 6 2 2#S-2 *7 -200 1.0 13.0
12 9 3¢ V+2 v6 -150 00 14012 9 24 S-2 .7 -200 1.0 13.0
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